
J–121 

if.Mr lqUnjyky 'kekZ ¼eqDr½ fo'ofo|ky; NÙkhlx<+] fcykliqj 

l=h; dk;Z (Assignment Work) l= & tuojh&fnlacj 2024 

ch-dkWe- ¼izFke o"kZ½ (Group–I) 

fo"k;& foRrh; ys£aakdu                iz'ui=% izFke 

iw.kkZad % 30                  U;wure mRrh.kkZad% 10 

uksV%& ijh{kkFkhZ izR;sd [k.M ds funsZ'kksa dks /;ku ls i<+dj iz'uksa dks gy djsaA 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 

1&2 'kCn ;k ,d okD;A 

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  

gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 

mŸkj 'kCn lhek 150 ;k ,d istA 

 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 

gksxkA 'kCn lhek 300 ;k nks istA 

 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 

gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 

(Assignment—1) 

[k.M&v 

(Section—A) 

1- Hkkjrh; ys[kkadu izeki dks tkjh djus okyh laLFkk dk uke fyf[k,A 

Write the name of organization which issues the Indian Accounting Standards.  

2- eky nku esa fn, tkus ij dkSu&lk [kkrk ØsfMV fd;k tkrk gS \ 

Which account is credited when giving goods in donation ?  

3- kl vk;kstu dh okf”kZdh i)fr esa C;kt dh jkf’k dks lEifŸk [kkrs esa MsfcV fd;k tkrk gS vFkok 

ØsfMV \ 

In the annuity method of depreciation, the amount of interest is debited or credited to the 

assets account ?  

4- ;fn mikftZr vk; dks ryiV esa fn;k x;k gS rks vfUre [kkrk cukrs le; bldh jkf’k dks dgk¡ 

fn[kk;k tk;sxk \ 



If the accrued income is given in Trial Balance, where will it be shown at the time of 

preparation of final account ? 

5-  ;fn ‘kk[kk dks ykxr 
1

33 %
3

  tksM+dj ` 40000 chtd ewY; dk eky Hkstk x;k gS rks ykxr ewY; 

fdruk gksxk \ 

If the goods of invoice price ` 40,000 are sent to the branch by adding cost 
1

33 %
3

 , then 

what will be the cost price ? 

6- fd’r Hkqxrku i)fr esa Øsrk }kjk ns; dqy C;kt dks fdl [kkrs esa MsfcV fd;k tkrk gS \ 

In instalment payment system which account will be debited from the total interest payable 

by the buyer ? 

7- P  rFkk Q  tks ykHk dks 3 % 1 ds vuqikr esa foHkkftr djrs gSa R  dks 
1

3
 fgLlk ds fy, lk>snkjh 

esa izos’k djkrs gSaA lk>snkjksa dk u;k ykHk&gkfu vuqikr fdruk gksxk \ 

P and Q who share profit in the ratio of 3 : 1 admit R to a 
1

3
 share. What will be the new 

profit and loss ratio of the partners ? 

8- QeZ ds fo?kVu dh fdUgha nks ifjfLFkfr;ksa dks fyf[k,A 

Write any two circumstances of dissolation of a firm. 

 [k.M&c 

(Section—B) 

9- ys[kkadu dh miktZu vo/kkj.kk dks crkb,A 

State the accrual concept of accounting. 

10- vkLFkfxr vk;xr O;; D;k gksrs gSa \ 

What is deferred revenue expenditure ? 

11- kl ds dkj.kksa dks fyf[k,A 

Write the causes of depriciation. 

12- xSj&O;kikfjd laxBu dks le>kb,A  

Explain the non-trading organization. 

13- vkfJr ‘kk[kk,¡ D;k gksrh gSa \ 

What are dependent branches ? 

14- [;kfr dks ifjHkkf”kr dhft,A 

Define goodwill. 

l=h; dk;Z& 2 

(Assignment—2) 



[k.M&l 

(Section—C) 

15- jkstukepk ,oa [kkrkcgh esa vUrj crkb,A 

State the difference between Journal and Ledger.  

16- izko/kku ,oa lap; esa vUrj dhft,A 

Distinguish between provisions and reserves. 

17- fdjk;k Ø; i)fr rFkk fd’r Hkqxrku i)fr esa vUrj crkb,A 

Differentiate between hire purchase system and instalment payment system. 

18- lk>snkjh dh fo’ks”krkvksa dks le>kb,A 

Explain the characteristics of partnership. 

 

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- ryiV dks ifjHkkf”kr dhft,A ryiV ls Kkr gksus okyh vkSj Kkr u gksus okyh v’kqf);ksa dk o.kZu 

dhft,A 

Define Trial Balance. Describe the errors which are disclosed and which are not disclosed 

by Trial Balance. 

20- 1 tqykbZ 2003 dks fot; fy- us ,d iqjkuh e’khu  

` 20000 esa Ø; dh rFkk bldh jhd.Mh’kfuax o LFkkiu ij ` 3000 O;; fd,A 1 tuojh 2004 dks dEiuh 

us ,d ubZ e’khu ` 12000 esa Ø; dhA 30 twu 2005 dks dEiuh us 1 tuojh 2004 dks Ø; dh xbZ e’khu 

` 8000 esa csp nhA 1 tqykbZ 2005 dks ubZ e’khu fd’rksa ij Ø; dh xbZ bl e’khu dk Hkqxrku fuEukuqlkj 

fd;k x;k % 1 tqykbZ 2005 dks ` 5000( 30 twu 2006 dks ` 6000( twu 2007 dks ` 5500A 2006 o 2007 

ds Hkqxrku esa C;kt ds Øe’k% ` 1000 o ` 500 ‘kkfey gSaA dEiuh ykxr ewY; ij 10% dh nj ls kl 

yxkrh gSA [kkrs izfro”kZ 31 ekpZ dks can fd, tkrs gSaA 31 ekpZ 2006 dks lekIr rhu o”kks± dk e’khu [kkrk 

cukb,A 

On 1 July, 2003 Vijay Ltd. purchased a second-hand machine for ` 20,000 and spent `30,000 

on reconditioning and installing. On 1 January, 2004 company purchased a new machinery 

worth ` 12,000. On 30 June, 2005 the machinery purchased on 1 January, 2004 was sold for 

` 8,000. On 1 July, 2005 a fresh machine was purchased on instalment basis, payment for 

this machinery was to be made as  

follows :  

1 July, 2005 ` 5,000; 30 June, 2006 ` 6,000; 30 June, 2007, ` 5,500. Payments in 2006 and 

2007 include interest ` 1,000 and ` 500 respectively. The company writes-off depreciation @ 

10% p. a. on original cost. The accounts are closed every year on 31st March. Show that 

Machinery Account for three years ending 31st March, 2006.  



21- eky dks fdjk;k Ø; i)fr ij csprs le; Øsrk rFkk foØsrk dh iqLrd esa dh tkus okyh iath 

izfof”V;ksa dks fyf[k,A 

Write the Journal entries to be made in the books of buyer as well as vender when goods are 

sold on the hire purchase system. 

22- X, Y rFkk Z QeZ dk 31 ekpZ 2005 dks fpëk fuEukuqlkj Fkk % 

nkf;Ro  ` 

fofo/k ysunkj 7,000 

cU/kd ij _.k 1,800 

iw¡th %  

X 5,000 

Y 4,000 

 17,800 

 

lEifŸk;k¡ ` 

udnh 800 

fofo/k nsunkj 9,000 

jgfr;k 3,000 

ifjlj 4,000 

iw¡th % Z 1,000 

 17,800 

mDr fnukad dks QeZ dk fo?kVu djuk r; gqvkA os Øe’k% 3 % 2 % 1 ds vuqikr esa ykHk&gkfu dk 

foHkktu djrs gSaA ifjlj ls ` 3000 jgfr;k ls ` 2400 rFkk fofo/k nsunkjksa ls ` 1450 cV~Vk dkVdj 

izkIr gq,A ysunkjksa dk ` 250 ds cV~Vs ij Hkqxrku dj fn;k x;kA olwyh ds O;; ` 350 gq,A Z  us 

Lo;a dks fnokfy;k ?kksf”kr dj fn;k rFkk mldh O;fDrxr lEifŸk ls ` 1 esa dsoy 50 iSls gh olwy 

gq,A vki ^xkuZj cuke ejsZ* ds vuqlkj olwyh [kkrk jksdM+ [kkrk rFkk lk>snkjksa ds iw¡th [kkrs cukb,A 

The Balance Sheet of firm X, Y and Z on 31st March, 2005 was as follows : 

Liabilities  ` 

Creditors 7,000 

Loan on Mortgage 1,800 

Capital :  

X 5,000 

Y 4,000 

 17,800 



 

Assets ` 

Cash 800 

Sundry Debtors 9,000 

Stock 3,000 

Premises 4,000 

Capital  : Z 1,000 

 17,800 

It was agreed to dissolve the firm on that date. They share profits and losses in the ratio 3 : 2 

: 1. ` 3,000 were realised from premises, ` 2,400 from stock and  

` 1,450 from sundry debtors after allowing discount. Creditors were paid off at discount of ` 
250. Realisation expenses amounted to ` 350. Z declared himself as insolvent and 50 paise in 

a rupee was received from his provate estate. You have to prepare Realisation Account, 

Cash Account and Partners‟ Capital Accounts according to Garner vs. Murray.  

 

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- lk>snkjh lays[k D;k gS \ lays[k esa fdu&fdu ckrksa dk lekos’k fd;k tkuk pkfg, \ lk>snkjh 

lays[k ds vHkko esa ykxw gksus okys fu;eksa dks crkb,A 

What is a Partnership deed ? What points should be included in a deed ? State the rules that 

will be applicable in the absence of such agreement. 

24- 31 ekpZ dks lekIr o”kZ ds fy, X  ds fuEukafdr ryiV ls vfUre [kkrs cukb, rFkk bl frfFk ij 

vkfFkZd fpëk Hkh rS;kj dhft, % 

fooj.k Dr (`) Cr. (`) 

Hkwfe o Hkou 50,000 – 

Ø; ¼lek;ksftr½ 2,10,000 – 

Lda/k ¼31 ekpZ 2011½ 45,000 – 

okilh 1,500 2,500 

etnwjh 45,300 – 

osru 39,000 – 

dk;kZy; O;; 15,400 – 

vkxr xkM+h HkkM+k 1,200 – 

fuxZr xkM+h HkkM+k 2,000 – 



vigkj 750 1,200 

v’kks/; _.k 1,200 – 

foØ; – 3,85,000 

iw¡th ys[kk – 1,15,000 

pVthZ dk _.k ys[kk 

¼1&10&2010 dks 18% izfr o”kZ 

ij fy;k½ 

 

25,000 

chek 1,500  

deh’ku  1,500 

Iyk.V o e’khujh 50,000  

QuhZpj o fQDlplZ 20,000  

izkI; foi= 20,000  

fofo/k nsunkj 40,000  

fofo/k ysunkj  25,000 

cSad esa jksdM+ 16,000  

dk;kZy; midj.k 12,000  

ns; foi=  12,350 

ns; O;;  3,300 

 5,70,580 5,70,580 

fuEukafdr lek;kstukvksa dks /;ku esa jf[k, % 

(i) Hkwfe o Hkou ij 6 izfr’kr la;U= o e’khu ij 10 izfr’kr dk;kZy; midj.k ij 20 izfr’kr 

rFkk QuhZpj o fQDlpj ij 15 izfr’kr dh nj ls kl yxkb,A 

(ii) nsunkjksa ij v’kks/; o lafnX/k _.kksa ds fy, 20 izfr’kr dh nj ls izko/kku dhft,A 

(iii) chek izhfe;e esa is’kxh fn, x;s ` 250 ‘kkfey gSaA  

(iv) iw¡th ij 10 izfr’kr izfr o”kZ dh nj ls C;kt yxkb, rFkk X dk ` 15000 izfr o”kZ osru 

yxkb,A 

(v) vfUre ykHk dk 10 izfr’kr lkekU; lap; esa j[kk tkuk gSA 

From the undermentioned Trial Balance of X, prepare the final accounts for the year ended 

31st March, 2011 and the Balance Sheet as at that date : 

Particulars Dr (`) Cr. (`) 

Land and Buildings 50,000 – 

Purchases (adjusted) 2,10,000 – 

Stock (March 31, 2011) 45,000 – 



Returns 1,500 2,500 

Wages 45,300 – 

Salaries 39,000 – 

Office Expenses 15,400 – 

Carriage inwards 1,200 – 

Carriage outwards 2,000 – 

Discounts 750 1,200 

Bad debts 1,200 – 

Sales – 3,85,000 

Capital Account – 1,15,000 

Chaterji‟s Loan A/c (taken on 

1-10-2010 @ 18% p. a.) 

 

25,000 

Insurance 1,500  

Commission  1,500 

Plant and Machinery 50,000  

Furniture and Fixtures 20,000  

Bills Receivable 20,000  

Sundry Debtors 40,000  

Sundry Creditors  25,000 

Cash at Bank 16,000  

Office Equipment 12,000  

Bill Payable  12,350 

Expenses Payable  3,300 

Total 5,70,580 5,70,580 

The following adjustments be taken care of : 

(i) Depreciate Land and Building @ 6%, Plant and Machinery @ 10%, Office Equipment 

@ 20% and Furniture and Fixtures @ 15%. 

(ii) Create a provision for bad and doubtful debts at 20% on debtors. 

(iii) Insurance premium includes ` 250 paid in advance. 

(iv) Provide interest on capital @ 10% p. a. and salary to X‟s ` 15,000 p. a. 

(v) 10% of the final profit is to be kept in General Reserve. 

 

 

 

 

 

 

 

 
 

 



 



J–122 

if.Mr lqUnjyky 'kekZ ¼eqDr½ fo'ofo|ky; NÙkhlx<+] fcykliqj 

l=h; dk;Z (Assignment Work) l= & tuojh&fnlacj 2024 

ch-dkWe- ¼izFke o"kZ½ (Group–I) 

fo"k;& O;olkf;d xf.kr                    iz'ui=% f}rh; 

iw.kkZad % 30                  U;wure mRrh.kkZad% 10 

uksV%& ijh{kkFkhZ izR;sd [k.M ds funsZ'kksa dks /;ku ls i<+dj iz'uksa dks gy djsaA 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 

1&2 'kCn ;k ,d okD;A 

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  

gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 

mŸkj 'kCn lhek 150 ;k ,d istA 

 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 

gksxkA 'kCn lhek 300 ;k nks istA 

 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 

gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 

(Assignment—1) 

[k.M&v 

(Section—A) 

1- Qyu 
nx  dk vody xq.kkad gksxk 

----------------
A 

The differential coefficient of the function nx  will be ............... . 

2- y?kqx.ku dh vo/kkj.kk dks loZizFke fdlus O;Dr fd;k Fkk \ 

Who first expressed the concept of logarithm ? 

3- fod.kZ vkO;wg D;k gS \ 

What is diagonal matrix ? 

4- lkjf.kd izlkj dh fof/k dk uke crkb,A 

Name the method of determinant expansion. 

5- ?kuewykuqikr D;k gS \ 

What is cube root ? 

6- ‘kq) ykHk vuqikr dk lw= fyf[k,A 



Write the formula for net profit ratio. 

7- la;ksfxd okf”kZdh D;k gS \ 

What is composite annuity ? 

8- izfr’krrk D;k gS \ 

What is percentage ? 

 [k.M&c 

(Section—B) 

9- fuEufyf[kr Qyu ds fy, 
dy

dx
 Kkr dhft, % 

  2 3 1x x    

Find 
dy

dx
 for the following function : 

  2 3 1x x  . 

10- y?kqx.kd lkj.kh dh lgk;rk ls ljy dhft, % 

715 2

60


  

Simplify by using log tables : 

715 2

60


 

11- fuEufyf[kr lkjf.kd dk eku Kkr dhft, % 

19 17 15

9 8 7

1 1 1

  

Find the value of the following determinant : 

19 17 15

9 8 7

1 1 1

 

12- js[kh; izØeu dk vFkZ ,oa ifjHkk”kk fyf[k,A 

Write the meaning and definition of Linear Programming. 

13- lk/kkj.k C;kt ,oa pØo`f) C;kt esa vUrj fyf[k,A 

Write the difference between simple interest and compound interest.   

14- mnkgj.k lfgr izfr’krrk lEcU/kh fu;eksa dks le>kb,A 

Explain the rules concerning the percentage with examples. 

 



l=h; dk;Z& 2 

(Assignment—2) 

[k.M&l 

(Section—C) 

15- fuEufyf[kr dk eku fudkfy, % 

 2log 542.3 472.3 
 

  

Evaluate the following : 

 2log 542.3 472.3 
 

 

16- vkO;wg ds fdUgha ik¡p izdkjksa dk mnkgj.k lfgr o.kZu dhft,A 

Describe any five kinds of matrix. Illustrate with example. 

17- vuqikr 5 % 6 ds izR;sd in esa ls D;k ?kVk;k tk, fd vuqikr 8 % 11 gks tk, \  

What should be subtracted from each term in the ratio 5 : 6 so that it becomes 8 : 11 ? 

18- ;fn ,d la[;k ds 80% esa 32 tksM+us ij ifj.kke ogh la[;k gks] rks og la[;k Kkr dhft,A 

If 32 is added to 80% of a number, the result is the number itself, find the number. 

 

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- ;fn % 

4 2 2 4Z 2x x y y     

gks rks f}rh; Øe ds pkjksa vkaf’kd vodyt Kkr dhft,A 

If : 
4 2 2 4Z 2x x y y    

find all the four partial derivatives of second order. 

20- ;fn % 

1 2 3 1 1 1
A , B , C

3 4 4 5 2 2

     
       
     

  

gks rks fl) dhft, fd % 

 A B C AB AC+ +
-  

If : 

1 2 3 1 1 1
A , B , C

3 4 4 5 2 2

     
       
     

 

prove that :  

 A B C AB AC+ + .  



21- ,d crZu A esa nw/k vkSj ikuh dk vuqikr 5 % 2 gS vkSj nwljs crZu B esa budk vuqikr 8 % 5 gSA 

nksuksa crZuksa ds feJ.kksa dks ysdj fdl vuqikr esa feyk;k tk, fd nw/k vkSj ikuh dk vuqikr 9 % 4 gks 

tk, \ 

Milk and water are mixed in a vessel A in the ratio 5 : 2 and in a vessel B in the ratio of 8 : 

5. In what ratio should quantities be taken from the two vessels so as to form a mixture in 

which milk and water will be in the ratio of 9 : 4 ?  

22- ,d pquko esa Mkys x, erksa dk 5% jí gks tkrk gSA ,d izR;k’kh oS/k erksa dk 60% izkIr djrk gS ,oa 

760 erksa ls pquko thrrk gSA dqy Mkys x;s erksa dh la[;k Kkr dhft,A 

In an election 5% of the votes cast are declared invalid. A candidate gets 60% of the total 

valid votes and wins the election by 760 votes. Find the total number of votes cast.  

 

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- dksbZ /ku pØo`f) C;kt esa 12 o”kZ 6 ekg esa nqxquk gks tkrk gSA fdrus o”kZ esa ;g frxquk gks tk;sxk \ 

A sum of money doubles itself in 12 years 6 months at compound interest. In how many 

years will it treble itself ? 

24- ,d ,tsUV vius iz/kku ds fy, 300 isu Ø; djrk gS rFkk ykxr ij 3% deh’ku olwy djrk gSA 

og bUgsa 25% ykHk ij cspdj foØ; ewY; ij 2% deh’ku izkIr djrk gSA ;fn mls dqy deh’ku ds 

` 165 izkIr gksrs gSa rks izfr isu ykxr ,oa foØ; ewY; Kkr dhft,A 

An agent purchases 300 pens for his principal and charges 3% commission on cost. He sells 

them @ 25% profit and charges 2% commission. If he gets ` 165 as total commission, find 

the cost and sales price of each pen.  
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if.Mr lqUnjyky 'kekZ ¼eqDr½ fo'ofo|ky; NÙkhlx<+] fcykliqj 

l=h; dk;Z (Assignment Work) l= & tuojh&fnlacj 2024 

ch-dkWe- ¼izFke o"kZ½ (Group–II) 

fo"k;& O;kolkf;d lapkj ,oa lEizs”k.k                      iz'ui=% r`rh; 

iw.kkZad % 30                  U;wure mRrh.kkZad% 10 

uksV%& ijh{kkFkhZ izR;sd [k.M ds funsZ'kksa dks /;ku ls i<+dj iz'uksa dks gy djsaA 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 

1&2 'kCn ;k ,d okD;A 

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  

gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 

mŸkj 'kCn lhek 150 ;k ,d istA 

 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 

gksxkA 'kCn lhek 300 ;k nks istA 

 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 

gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 

(Assignment—1) 

[k.M&v 

(Section—A) 

1- O;kolkf;d lEizs"k.k ds fdrus :i gSa \ 

How many forms of Business Communication are there ? 

2- Lo&fodkl O;fDrxr lapkj n{krk esa lq/kkj ykrk gSA    ¼lR;@vlR;½ 

Self-development improves personal communication skill.  (True / False) 

3- HkkoukRed eukso`fÙk 'kkfCnd vojks/k ls lEcfU/kr gSA    ¼lR;@vlR;½ 

Emotional attitude is related to semantic barriers.    (True/False) 

4- vkUrfjd lEizs"k.k 
--------------

 izdkj dk gksrk gSA 

Types of Internal Communication are ............ . 

5- ekSf[kd izLrqfrdj.k 
---------------

 izdkj dk gksrk gSA 



Types of coral presentation are ............ . 

6- iwNrkN dk i= fdls dgrs gSa \ 

Letter for enquiry is written for ............ 

7- Jo.k izfØ;k esa fdruh fØ;k,¡ lfEefyr jgrh gSa \ 

How many action are included in listening process ? 

8- lh- Vw- lh- ls rkRi;Z 
---------------

 ls gSA 

Meant by C to C is ............ . 

 [k.M&c 

(Section—B) 

9- Jksrk fdrus izdkj ds gksrs gSa \ 

What are the types of audience ? 

10- lEizs"k.k izfØ;k dh O;k[;k dhft,A 

Explain the process of Communication. 

11- Hkk"kk fdl izdkj izHkko'kkyh lEizs"k.k esa ck/kd fl) gksrh  

gS \ Li"V dhft,A 

How does language prove barriers in effective communication ? Explain. 

12- ,d ys[ku dks fdl izdkj izHkkoh cuk;k tk ldrk gS \ 

How can writing be made effective ? 

13- O;fDrxr ,oa lkewfgd izLrqfrdj.k dks le>kb,A 

Explain the individual and group presentation. 

14- ik'oZ Hkk"kk dk vFkZ ,oa egRo crkb,A 

Explain meaning and importance of Para-Language. 

 

l=h; dk;Z&2 

(Assignment—2) 

[k.M&l 

(Section—C) 

15- lEizs"k.k dh lwpuk fopkj/kkjk dh O;k[;k dhft,A 

Explain the information theory of Communication. 

16- vkSipkfjd ,oa vukSipkfjd lEizs"k.k ls vkidk D;k vfHkizk; gS \ nksuksa esa vUrj dhft,A 

What do you mean by formal and informal communication ? Distinguish between the two. 

17- lUnHkZ i= ls vkidk D;k vk'k; gS \ ,sls i=ksa dks fy[krs le; /;ku nsus ;ksX; ckrsa crkb,A 

What do you mean by reference letter ? Which point you have to keep in mind while writing 

those letters. 



18- ukSdjh ds fy;s vkosnu i= ds izeq[k rRoksa dh ppkZ dhft,A ukSdjh ds vkosnu i= dk ,d mfpr 

uewuk nhft,A 

Point out main contents of application for job. Give a proper specimen of an application for 

service. 

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- O;kolkf;d lEizs"k.k ds oxhZdj.k ij ,d ys[k fyf[k,A 

Write a note on classification of Business Communication. 

20- lkewfgd fu.kZ;u dh fofHkUu rduhfd;ksa dh ppkZ dhft,A 

Discuss the various techniques of group decision- making. 

21- fjiksVZ ls vkidk D;k vk'k; gS \ O;kolkf;d fjiksVZ ds izdkjksa dk mYys[k dhft,A 

What do you mean by report ? Discuss the types of business reports. 

22- lk{kkRdkjd ,oa lk{kkRdkjh ds fy, izHkkoh lk{kkRdkj ds ekxZn'kZd rRoksa dh O;k[;k dhft,A 

What are the guidelines of effective interview for interviewer and interviewee ? 

 

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- lEizs"k.k dh ifjHkk"kk nhft, o bldh izÑfr ,oa mís';ksa dk o.kZu dhft,A 

Define communication and describe its nature and objectives. 

24- izHkkoh O;kolkf;d i=ksa dh izeq[k fo'ks"krkvksa dks Li"V dhft,A ,d O;kolkf;d i= dh lajpuk dks 

crkb,A 

Explain the essential characteristics of effective business letters. Mention the structure of a 

business letter. 

 

 

 

 

 

 

 

 

 

 
 

 

 



J–124 

if.Mr lqUnjyky 'kekZ ¼eqDr½ fo'ofo|ky; NÙkhlx<+] fcykliqj 

l=h; dk;Z (Assignment Work) l= & tuojh&fnlacj 2024 

ch-dkWe- ¼izFke o"kZ½ (Group–II) 

fo"k;& O;kolkf;d fu;eu ,oa :Ikjs[kk               iz'ui=% prqFkZ 

iw.kkZad % 30                  U;wure mRrh.kkZad% 10 

uksV%& ijh{kkFkhZ izR;sd [k.M ds funsZ'kksa dks /;ku ls i<+dj iz'uksa dks gy djsaA 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 

1&2 'kCn ;k ,d okD;A 

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  

gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 

mŸkj 'kCn lhek 150 ;k ,d istA 

 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 

gksxkA 'kCn lhek 300 ;k nks istA 

 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 

gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 

(Assignment—1) 

 [k.M&v 

(Section—A) 

lgh mŸkj pqfu, %  

Choose the correct answer : 

1- izLrko Lohd`r gksus ij cu tkrk gS % 

¼v½ opu 

¼c½ Bgjko 

¼l½ izlafonk 

¼n½ dk;Z 

Proposal when accepted becomes : 

(a) Promise 

(b) Agreement 



(c) Contract 

(d) Work 

2- vuqca/k ds vf/kdre i{kdkj gks ldrs gSa % 

¼v½ fdrus Hkh 

¼c½ 6 

¼l½ 2 

¼n½ 8 

The maximum parties for a contract can be : 

(a) Any 

(b) 6 

(c) 2 

(d) 8 

3- mRihM+u dh /kkjk D;k gS \ 

¼v½ 16 

¼c½ 17 

¼l½ 15 

¼n½ 20 

What is Section of coercion ? 

(a) 16 

(b) 17 

(c) 15 

(d) 20 

lR;@vLkR; crkb, %  

State true/false : 

4- izfrQy opu dk ewY; ugha gksrk gSA 

Consideration is not a price of promise. 

5- oS/k iqf”Vdj.k dk lEizs”k.k gksuk vko’;d gSA 

Communication is essential for a valid ratification.  

6- fu”iknu dk izLrko l’krZ gksuk pkfg,A 

The proposal for performance should be conditional. 

7- D;k gq.Mh fofu;elk/; foys[k gksrk gSA 

Hundi is a negotiable instrument. 

8- miHkksDrk eky ,oa lsokvksa dk iz;ksDrk gksrk gSA 

Consumer is the user of goods and services. 



 [k.M&c 

(Section—B) 

9- izfrizLrko D;k gksrk gS \ 

What is counteroffer ? 

10- fu”iknu dh ek¡x dkSu dj ldrk gS \ 

Who can demand performance ? 

11- [k.Mu }kjk vuqca/k lekfIr dks le>kb,A 

Explain termination of contract by rebuttal. 

12- oLrq foØ; vuqca/k ds rRo fyf[k,A 

Write down the elements of the contract of sale of goods. 

13- jkT; vk;ksx ij fVIIk.kh fyf[k,A 

Write a note on State Commission. 

14- yksd izkf/kdkfj;ksa dh ck/;krk,¡ crkb,A 

Discuss the obligations of public authorities. 

 

l=h; dk;Z& 2 

(Assignment—2) 

[k.M&l 

(Section—C) 

15- ^’krZ* rFkk ^vk’oklu* esa varj fyf[k,A 

Write the difference between „condition‟ and „warranty‟. 

16- vuqca/k ds [k.Mu esa ihfM+r i{kdkj dks izkIr mipkjksa dks crkb,A 

Discuss the remedies available to the aggrieved party in breach of contract. 

17- ,d ;Fkkfof/k/kkjh ds D;k vf/kdkj gSa \ 

What are the rights of a holder in due course ? 

18- dsUnzh; miHkksDrk laj{k.k ifj”kn~ ij fVIIk.kh fyf[k,A 

Write a note on Central Consumer Protection Council. 

 

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- izLrko rFkk Lohd`fr dk laogu dc iwjk gksrk gS \ fdlh izLrko dk [k.Mu dSls fd;k tk ldrk gS\ 



When is communication of an offer and acceptance complete ? How can an offer be revoked 

? 

20- ,tsUV ds vf/kdkj ds {ks= vkSj lhek dk mnkgj.k lfgr foospu dhft,A 

Discuss with examples, scope and extent of agent‟s authority. 

21- ^ijØkE; foys[k* dh ifjHkk”kk nhft, vkSj bldh fo’ks”krkvksa dk o.kZu dhft,A 

Define a „negotiable instrument‟ and state is characteristics. 

22- fons’kh fofue; izcU/ku vf/kfu;e ds vUrxZr vihyksa ds laca/k esa izko/kkuksa dk foLr`r o.kZu dhft,A 

Discuss in detail the provisions relating to appeals under Foreign Exchange Management 

Act. 

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- eky foØ; vf/kfu;e ds vUrxZr ^eky* D;k gS \ fofHkUu izdkj ds eky crkb,A eky ds u”V gksus 

dk eky foØ; vf/kfu;e ij D;k izHkko iM+rk gS \ 

What is Goods under Sale of Goods Act ? Explain the different types of goods. What is the 

effect of destruction of goods under Sales of Goods Act ? 

24- fofu;elk/; foys[k D;k gS \ ,d fofue;lk/; foys[k dh oS/k ekU;rkvksa dks crkb,A 

What is „negotiable instrument‟ ? Explain the legal presumptions of a negotiable instrument. 

 

 

 

 

 

 

 

 

 
 

 

 



J–125 

if.Mr lqUnjyky 'kekZ ¼eqDr½ fo'ofo|ky; NÙkhlx<+] fcykliqj 

l=h; dk;Z (Assignment Work) l= & tuojh&fnlacj 2024 

ch-dkWe- ¼izFke o"kZ½ (Group–III) 

fo"k;&                iz'ui=% iape 

iw.kkZad % 30                  U;wure mRrh.kkZad% 10 

uksV%& ijh{kkFkhZ izR;sd [k.M ds funsZ'kksa dks /;ku ls i<+dj iz'uksa dks gy djsaA 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 

1&2 'kCn ;k ,d okD;A 

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  

gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 

mŸkj 'kCn lhek 150 ;k ,d istA 

 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 

gksxkA 'kCn lhek 300 ;k nks istA 

 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 

gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 

(Assignment—1) 

[k.M&v 

(Section—A) 

1- vFkZ’kkL= dh dY;k.k vk/kkfjr ifjHkk”kk fdlds }kjk nh xbZ gS \ 

Welfare oriented definition of Economics has been given by whom ? 

2- ek¡x dh vk; yksp ls D;k vk’k; gS \ 

What is meant by income elasticity of demand ? 

3- vYikf/kdkj D;k gS \ 

What is oligopoly ? 

4- dqy ykxr dk lw= D;k gS \ 

What is the formula for total cost ? 

5- fdl cktkj lajpuk esa ek¡x iw.kZr% yksp’khy gksrh gS \ 



In which market structure, the demand is perfectly elastic ? 

6- ykHk ds uo izorZu fl)kUr dk izfriknu fdlds }kjk fd;k x;k gS \ 

The innovation principle of profit has been propounded by whom ? 

7- Li”V ykxrsa D;k gksrh gSa \ 

What are the explicit costs ? 

8- xqLrko dSly ds }kjk Ø; ‘kfDr lerk fl)kUr o”kZ -------------- esa izfrikfnr gqvkA 

Purchasing power parity theory was propounded by Gustav Cassel in the year ................ . 

 [k.M&c 

(Section—B) 

9- jkWfcUl dh ifjHkk”kk dk vkykspukRed v/;;u djrs gq, nqyZHkrk lEcU/kh ifjHkk”kk fyf[k,A 

Write scarcity definition by making a critical study of definition of Robbins. 

10- ^ek¡x dh dher yksp* ds fopkj dh ifjHkk”kk nhft,A 

Define the concept of „Price elasticity of demand‟. 

11- okLrfod ykxr dh vkykspuk dhft,A 

Explain the criticism of the real cost. 

12- iw.kZ izfr;ksfxrk dh izeq[k fo’ks”krkvksa dks crkb,A 

Explain the main features of perfect competition. 

13- ewY; fu/kkZj.k dk fojks/kkHkkl Li”V dhft,A 

Explain the paradox of price determination. 

14- etnwjh ds vk/kqfud fl)kUr dh O;k[;k dhft,A 

Explain the modern theory of wages. 

l=h; dk;Z& 2 

(Assignment—2) 

[k.M&l 

(Section—C) 

15- mRifŸk kl fu;e ds izHkko’khy gksus ds dkj.k crkb,A 

Explain the cause of enforceability of the law of diminishing returns. 

16- fLFkj ykxr rFkk ifjorZu’khy ykxrksa dk ewY; fl)kUr esa egRo crkb,A 

Explain the importance of fixed and variable cost in the theory of value. 

17- cktkj ds foLrkj dks izHkkfor djus okyh n’kk,¡ le>kb,A 

Explain the conditions affecting the expansion of the market. 

18- ukbV ds ykHk fu/kkZj.k fl)kUr dks le>kb,A 

Explain Knight‟s theory of profit determination. 



l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- cM+s iSekus ds mRiknu ds vFkZ dks Li”V djrs gq, bldh gkfu;ksa dks crkb,A 

Describe the disadvantages by clarifying the meaning of large scale production. 

20- vYidky rFkk nh?kZdky esa vkSlr ykxr ds O;ogkj dh foospuk dhft,A 

Discuss the behaviour of average cost in the short period and long period. 

21- ß,dkf/kdkjh izfr;ksfxrk esa ^,dkf/kdkj* rFkk ^izfr;ksfxrk* nksuksa dh fo’ks”krkvksa dk feJ.k gksrk gSAÞ 

dSls \ 

“There is a mixture of the features of „monopoly‟ and „competition‟ in monopolistic 

competition.” How ? 

22- yxku ds vk/kqfud fl)kUr dh foospuk dhft,A fjdkMksZ ds fl)kUr ls ;g fdl izdkj fHkUu gS \ 

Discuss the modern theory of Rent. How does it differ from Ricardian theory ? 

 

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- ek¡x dh yksp ds vFkZ Hksn o egRo dks le>kb,A 

Explain the meaning, kinds and importance of elasticity of demand. 

24- ßC;kt dh nj eqnzk dh dher gS vkSj eqnzk dh iwfrZ rFkk ek¡x }kjk fu/kkZfjr gksrh gSAÞ foospuk 

dhft,A 

“The rate of interest is the price of money and is determined by the supply of money and the 

demand for it.” Discuss. 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 



J–126 

if.Mr lqUnjyky 'kekZ ¼eqDr½ fo'ofo|ky; NÙkhlx<+] fcykliqj 

l=h; dk;Z (Assignment Work) l= & tuojh&fnlacj 2024 

ch-dkWe- ¼izFke o"kZ½ (Group–III) 

fo"k;& O;kolkf;d i;kZoj.k                iz'ui=% "k"Be 

iw.kkZad % 30                  U;wure mRrh.kkZad% 10 

uksV%& ijh{kkFkhZ izR;sd [k.M ds funsZ'kksa dks /;ku ls i<+dj iz'uksa dks gy djsaA 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 

1&2 'kCn ;k ,d okD;A 

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  

gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 

mŸkj 'kCn lhek 150 ;k ,d istA 

 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 

gksxkA 'kCn lhek 300 ;k nks istA 

 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 

gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 

(Assignment—1) 

[k.M&v 

(Section—A) 

1- izfr O;fDr vk; 
jk"Vªh;v k;

dyq tul[a;k
 gksrh gSA ¼lR;@vlR;½ 

Per Capita Income 
National Income

TotalPopulation
   (True/False) 

2- fofu;ksx vFkZra= dk ,d egRoiw.kZ lwpd gSA ¼lR;@vlR;½ 

Investment is an important informer of an economic system.    

 (True/False) 

3- O;kikj larqyu Hkqxrku larqyu dk ,d vax ugha gSA      

 ¼lR;@vlR;½ 

Balance of Trade is not a part of Balance of Payment.       

  (True/False)  



4- LQhfr dks vdsys ekSfnzd mik;ksa ls fu;af=r fd;k tk ldrk gSA   ¼lR;@vlR;½ 

Inflation only be controlled by monetary measures.     (True/False) 

5- ubZ vkS|ksfxd uhfr 24 tqykbZ 1991 dks ykxw gqbZA     ¼lR;@vlR;½ 

New Industrial Policy applied on 24th July, 1991.     (True/False) 

6- vksisd dks;yk fu;kZrd jk”Vªksa dk la?k gSA     ¼lR;@vlR;½ 

OPEC is the organization of coal exporting countries.     (True/False) 

7- fo’o cSad dh LFkkiuk varjkZ”Vªh; eqnzk dks”k ds lkFk gqbZ FkhA     ¼lR;@vlR;½ 

World Bank established with International Monetary Fund.   (True/False) 

8- vkS|ksxhdj.k dks Lons’kh O;kikj ls izksRlkgu feyrk gSA     ¼lR;@vlR;½ 

Industrialization encouraged by domestic trade.     (True/False) 

 [k.M&c 

(Section—B) 

9- O;kolkf;d i;kZoj.k ls vki D;k le>rs gSa \ 

What do you understand by Business Environment ? 

10- jk”Vªh; vk; dk D;k vFkZ gS \ 

What is the meaning of national income ? 

11- eqnzk LQhfr D;k gS \ 

What is inflation ? 

12- mnkjhdj.k D;k gS \ 

What is liberalization ? 

13- G-20 ds ckjs esa vki D;k tkurs gSa \ 

What do you know about G-20 ? 

14- eqnzk cktkj D;k gS \ 

What is money market ? 

l=h; dk;Z& 2 

(Assignment—2) 

[k.M&l 

(Section—C) 

15- fefJr vFkZO;oLFkk dh fo’ks”krkvksa dks fyf[k,A 

Write the characteristics of mixed economy. 

16- Hkkjr esa Hkqxrku larqyu izfrdwy gksus ds dkj.k crkb,A 

Give the reasons for India‟s adverse balance of payment. 

17- lkekftd vU;k; ls vki D;k le>rs gSa \ 



What do you understand by social injustice ? 

18- Qsek ds mís’;ksa dks fyf[k,A 

Write the objectives of FEMA. 

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- futhdj.k D;k gS \ bldh izeq[k fo’ks”krkvksa dks fyf[k,A 

What is privatization ? Writes its main characteristics. 

20- vkS|ksfxd uhfr ls vki D;k le>rs gSa \ blds mís’;ksa dks fyf[k,A 

What do you understand by Industrial Policy ? Write its objectives. 

21- jktdks”kh; uhfr dks le>kb,A blds egRo dks crkb,A 

Explain Fiscal policy. Explain its importance. 

22- vkS|ksfxd #X.krk fdls dgrs gSa \ blds dkj.kksa dks fyf[k,A 

What is industrial sickness ? Write the causes of industrial sickness. 

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- {ks=h; vlarqyu ls vki D;k le>rs gSa \ blds D;k dkj.k gSa \ {ks=h; vlarqyu dks nwj djus ds 

mik; lq>kb,A 

What do you understand by regional imbalance ? What are its causes ? Suggest the measures 

for removing regional imbalance. 

24- ßfo’o cSad dh LFkkiuk v)Z&fodflr ns’kksa ds fy, ojnku gSAÞ Li”V dhft,A 

“The establishment of World Bank is boon to underdeveloped countries.” Explain. 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 


